This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 16 - Liberton-Gilmerton

12,433

4

2,487

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Lezley Marion CAMERON	Labour and Co-operative Party	3,419
James Demare CHRISTIE	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	187
Philip DOGGART	Scottish Conservative and Unionist	2,239
Colin FOX	Scottish Socialist Party	295
Lesley MACINNES	Scottish National Party (SNP)	2,906
Martha MATTOS COELHO	Scottish National Party (SNP)	910
Ishrat MEASOM	Labour and Co-operative Party	725
Abu MERON	Alba Party for independence	222
John NICHOL	Scottish Green Party	1,023
Madeleine Rani Frances PLANCHE	Scottish Liberal Democrats	507
	Total	12,433

Candidate Lezley Marion CAMERON Elected with 3,419 votes, being in excess of the quota of 2,487 Candidate Lesley MACINNES Elected with 2,906 votes, being in excess of the quota of 2,487

This report contains the transfers results.

Stage 2 - Surplus of Lezley Marion CAMERON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James Demare CHRISTIE	75	0.27259	20.44425
Transfer to Philip DOGGART	273	0.27259	74.41707
Transfer to Colin FOX	97	0.27259	26.44123
Transfer to Martha MATTOS COELHO	119	0.27259	32.43821
Transfer to Ishrat MEASOM	2,139	0.27259	583.07001
Transfer to Abu MERON	16	0.27259	4.36144
Transfer to John NICHOL	167	0.27259	45.52253
Transfer to Madeleine Rani Frances PLANCHE	152	0.27259	41.43368
No further preference	381	0.27259	103.85679
Not transferred due to rounding			0.01479
	Total		932.00000

This report contains the transfers results.

Stage 3 - Surplus of Lesley MACINNES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James Demare CHRISTIE	12	0.14418	1.73016
Transfer to Philip DOGGART	23	0.14418	3.31614
Transfer to Colin FOX	24	0.14418	3.46032
Transfer to Martha MATTOS COELHO	2,483	0.14418	357.99894
Transfer to Ishrat MEASOM	38	0.14418	5.47884
Transfer to Abu MERON	10	0.14418	1.44180
Transfer to John NICHOL	164	0.14418	23.64552
Transfer to Madeleine Rani Frances PLANCHE	17	0.14418	2.45106
No further preference	135	0.14418	19.46430
Not transferred due to rounding			0.01292
	Total		419.00000

This report contains the transfers results.

Stage 4 - Exclusion of James Demare CHRISTIE

209.17441

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Philip DOGGART	52	1.00000	52.00000
Transfer to Colin FOX	9	1.00000	9.00000
Transfer to Martha MATTOS COELHO	15	1.00000	15.00000
Transfer to Ishrat MEASOM	21	1.00000	21.00000
Transfer to Abu MERON	13	1.00000	13.00000
Transfer to John NICHOL	18	1.00000	18.00000
Transfer to Madeleine Rani Frances PLANCHE	12	1.00000	12.00000
Transfer to Philip DOGGART	18	0.27259	4.90662
Transfer to Colin FOX	4	0.27259	1.09036
Transfer to Martha MATTOS COELHO	4	0.27259	1.09036
Transfer to Ishrat MEASOM	16	0.27259	4.36144
Transfer to John NICHOL	1	0.27259	0.27259
Transfer to Madeleine Rani Frances PLANCHE	8	0.27259	2.18072
Transfer to Philip DOGGART	1	0.14418	0.14418
Transfer to Colin FOX	2	0.14418	0.28836
Transfer to John NICHOL	3	0.14418	0.43254
Transfer to Madeleine Rani Frances PLANCHE	1	0.14418	0.14418
No further preference	47	1.00000	47.00000
No further preference	24	0.27259	6.54216
No further preference	5	0.14418	0.72090
Not transferred due to rounding			0.00000
	Total		200 17441

Total 209.17441

This report contains the transfers results.

Stage 5 - Exclusion of Abu MERON

240.80324

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Philip DOGGART	15	1.00000	15.00000
Transfer to Colin FOX	40	1.00000	40.00000
Transfer to Martha MATTOS COELHO	51	1.00000	51.00000
Transfer to Ishrat MEASOM	30	1.00000	30.00000
Transfer to John NICHOL	27	1.00000	27.00000
Transfer to Madeleine Rani Frances PLANCHE	14	1.00000	14.00000
Transfer to Colin FOX	1	0.27259	0.27259
Transfer to Martha MATTOS COELHO	3	0.27259	0.81777
Transfer to Ishrat MEASOM	3	0.27259	0.81777
Transfer to John NICHOL	1	0.27259	0.27259
Transfer to Madeleine Rani Frances PLANCHE	1	0.27259	0.27259
Transfer to Martha MATTOS COELHO	4	0.14418	0.57672
Transfer to John NICHOL	2	0.14418	0.28836
Transfer to Madeleine Rani Frances PLANCHE	1	0.14418	0.14418
No further preference	58	1.00000	58.00000
No further preference	7	0.27259	1.90813
No further preference	3	0.14418	0.43254
Not transferred due to rounding			0.00000
	Total		240.80324

This report contains the transfers results.

Stage 6 - Exclusion of Colin FOX

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Philip DOGGART	24	1.00000	24.00000
Transfer to Martha MATTOS COELHO	79	1.00000	79.00000
Transfer to Ishrat MEASOM	49	1.00000	49.00000
Transfer to John NICHOL	86	1.00000	86.00000
Transfer to Madeleine Rani Frances PLANCHE	27	1.00000	27.00000
Transfer to Philip DOGGART	6	0.27259	1.63554
Transfer to Martha MATTOS COELHO	7	0.27259	1.90813
Transfer to Ishrat MEASOM	49	0.27259	13.35691
Transfer to John NICHOL	5	0.27259	1.36295
Transfer to Madeleine Rani Frances PLANCHE	6	0.27259	1.63554
Transfer to Martha MATTOS COELHO	7	0.14418	1.00926
Transfer to Ishrat MEASOM	3	0.14418	0.43254
Transfer to John NICHOL	7	0.14418	1.00926
Transfer to Madeleine Rani Frances PLANCHE	1	0.14418	0.14418
No further preference	79	1.00000	79.00000
No further preference	29	0.27259	7.90511
No further preference	8	0.14418	1.15344
Not transferred due to rounding			0.00000
	Total		375.55286

This report contains the transfers results.

Stage 7 - Exclusion of Madeleine Rani Frances PLANCHE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Philip DOGGART	116	1.00000	116.00000
Transfer to Martha MATTOS COELHO	32	1.00000	32.00000
Transfer to Ishrat MEASOM	155	1.00000	155.00000
Transfer to John NICHOL	124	1.00000	124.00000
Transfer to Philip DOGGART	24	0.27259	6.54216
Transfer to Martha MATTOS COELHO	2	0.27259	0.54518
Transfer to Ishrat MEASOM	60	0.27259	16.35540
Transfer to John NICHOL	20	0.27259	5.45180
Transfer to Philip DOGGART	1	0.14418	0.14418
Transfer to Martha MATTOS COELHO	5	0.14418	0.72090
Transfer to Ishrat MEASOM	2	0.14418	0.28836
Transfer to John NICHOL	8	0.14418	1.15344
No further preference	133	1.00000	133.00000
No further preference	61	0.27259	16.62799
No further preference	4	0.14418	0.57672
Not transferred due to rounding			0.00000
	Total		608.40613

This report contains the transfers results.

Stage 8 - Surplus of Philip DOGGART

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Martha MATTOS COELHO	63	0.01974	1.24362
Transfer to Ishrat MEASOM	634	0.01974	12.51516
Transfer to John NICHOL	156	0.01974	3.07944
Transfer to Martha MATTOS COELHO	9	0.00538	0.04842
Transfer to Ishrat MEASOM	146	0.00538	0.78548
Transfer to John NICHOL	16	0.00538	0.08608
Transfer to Martha MATTOS COELHO	8	0.00284	0.02272
Transfer to Ishrat MEASOM	2	0.00284	0.00568
No further preference	1,593	0.01974	31.44582
No further preference	150	0.00538	0.80700
No further preference	15	0.00284	0.04260
Not transferred due to rounding			0.02387
	Total		50.10589

This report contains the transfers results.

Stage 9 - Exclusion of John NICHOL

1,360.57710

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Martha MATTOS COELHO	599	1.00000	599.00000
Transfer to Ishrat MEASOM	307	1.00000	307.00000
Transfer to Martha MATTOS COELHO	13	0.27259	3.54367
Transfer to Ishrat MEASOM	71	0.27259	19.35389
Transfer to Martha MATTOS COELHO	102	0.14418	14.70636
Transfer to Ishrat MEASOM	18	0.14418	2.59524
Transfer to Martha MATTOS COELHO	8	0.01974	0.15792
Transfer to Ishrat MEASOM	37	0.01974	0.73038
Transfer to Martha MATTOS COELHO	1	0.00538	0.00538
Transfer to Ishrat MEASOM	4	0.00538	0.02152
No further preference	372	1.00000	372.00000
No further preference	110	0.27259	29.98490
No further preference	64	0.14418	9.22752
No further preference	111	0.01974	2.19114
No further preference	11	0.00538	0.05918
Not transferred due to rounding			0.00000
	Total		1,360.57710

This report contains the transfers results.

Stage 10 - Exclusion of Ishrat MEASOM

1,947.16862

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Martha MATTOS COELHO	350	1.00000	350.00000
Transfer to Martha MATTOS COELHO	365	0.27259	99.49535
Transfer to Martha MATTOS COELHO	29	0.14418	4.18122
Transfer to Martha MATTOS COELHO	93	0.01974	1.83582
Transfer to Martha MATTOS COELHO	13	0.00538	0.06994
Transfer to Martha MATTOS COELHO	1	0.00284	0.00284
No further preference	937	1.00000	937.00000
No further preference	1,973	0.27259	537.82007
No further preference	32	0.14418	4.61376
No further preference	578	0.01974	11.40972
No further preference	137	0.00538	0.73706
No further preference	1	0.00284	0.00284
Not transferred due to rounding			0.00000

Total 1,947.16862